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Part — 1l
EDUCATION
(Honours)
Paper — V
Full Marks — 90
Time : 4 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

lllustrate the answers wherever necessary.
Group - A

1. ,'Answer any five questions (each within 60 words)
2x5=10

fa) What is meant centralised management?

b) Write two differences between inspection
and supervision.

“ c) Write two differences between authoritarian
and democratic management.

d} Write two differences between dynamic an
laissez faire management.

- e) Write two functions of AICTE.

P.T.0.



b)

c)

d)

f

f)  State two recommendations for secondary
education in 11th Five Year Plan.
g) Whatis TQ.M.?
h)  Write full form of :
(i) NCERT
(it) AICTE.
2. Answer any three questions (word limit 200 for
each) : 5x3=15
a) What are the determinants are necessary
for evaluation of NAAC?
b) Discuss Fayol's management theory.
c) Discuss main three types of leadership.
d) Write five functions of UGC.
e) Write the objectives of formation of NCERT.
fy  Discuss the interrelationship of Education
and Human Resource Development.
3. Answer any two questions (word limit 300 for
each) : 10%x2=20
a) What is institutional planning? Write four

characteristics of institutional planning. Write
five differences between educational planning
and institutional planning.

What is educational management. Discuss
the management theory of Taylor.

Discuss about Women Education as stated
in 12th Five Year Plan.

Discuss the qualities of a good inspector.
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Group - B

(Development of Education after 1947)
4. Answer any five questions (each within 60 words)

a) .'
b)
c) .
d)

. components of communication?
e)

f) |
g)

h)

2x5=10
What is Mastery learning ?
What is feedback?
Write two features of microteaching.
What is communication? What are the

Write two differences between audio and
audio-visual aids.

What is linear programme?

Write full form of : (i) CAI (i) RAM (i) ROM
(iv) OHP.

What is projector?

5. Answer any three gquestions (each within 200

words for each) : 5%3=15
Write five differences between Micro-
teaching and Traditional teaching. 5
Discuss the use of Overhead Projector in
the field of education. 5
What is programme? Discuss about
Programme learning in education. 2+3
Wirite five advantages of Systems approach.

5

What do you mean by effective communication ?
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What are the constraints of effective

communcation? 1+4

f}  Discuss the role and application of audio-
visual medium in education. 2+3

6. Answer any two guestions (each within 300
words for each) : 10x2=20

ay Discuss the different types of Classroom
Communication. 10

) What are the types and usefulness of
Distance education? Write, in details, the
application of Educational Technology in
Distance Education. 2+2+6

c) Whatis the effectiveness of Teaching model?
What are the components of teaching model.
How Bruner's concept Attainment Model can
be used in Science teaching and language
teaching? 3+242Y2+2V2

d) Whatis system? What are the components
of system? Discuss systems approach with
the help of flow chart. Write two advantages
of systems approach. 1+2+8+2
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